o(pp — H X)L, [ub]

Ratio to LHCB

=
D
o

=
N
o

100

80

60

40

0.5

Rivet 3.1.10, = 2.7M events

7000 GeV pp bb
L L L L L L L e
— N(b-jet) (with LEP fragmentation fractions) -
[  m  LHCB ]
— --0-- Pythia 6.428 345 —
- 5 Pythia 6.428 346 ]
| —A— Pythia 6.428 370 _|
— Pythia 6.428 default —
| . -
I —— T ’
I PR N T RO U (NPT SN T ANPUT NN NN AU N SN S NN SR SR ST NP B
:l T T T T | T T T T | T T T T | T T T T |:

————————————————————————————————————— O it e e

I T T T I R T T I R T T I R T T l

2 3 4 5 6

n(H)

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


